FIRST MID TERM EXAMINATION - 2022

9. Ny .. " SCIENCE | ~ Time: L. 3°Hf5
_ | | ~'Marks : 50
I  Choose the correct answer. : 10X 1 =10
1. 1 metric ton IS equal t0 ,uvemvirmirivereririmns «
a) 100 quintals ~b) 10 quintals
- €) 1/10 quintals | d) 1/100 quintals
2. Which of the following Is not a device to measure mass?.
a) spring balance " .b) beam balance
c) physical balance d) digital balance
3.  The centrifugal force I8 .. SRR
a) real force - b) the force of reactlon of centrlpetal force
c) virtual force d) directed towards the centre of clrcular path
4. When me mix a drop of Ink In waterwe get a ..,.cooomvmmniene s |
a) heterogenous mixture b) compound ¢) homogenous mixture
d) suspension
5. Change in number of neutrons in an atom changes It t0 .......... i '
a)anlon  'b) an Isotope ¢) anisobar . - d) another element:-
6. Identify the animal having four chambered heart '
a) lizard b) snake . ¢) crocodile d) calates
7. Air sacs and pneumatic bones are seen In -
a) fish b) frog c) bird . d) bat
8. Poikilothermic organlsms BB o cnsarsivns 3
a) fish, frog, lizard, man 'b) flsh frog, llzard cow
¢) fish, frog, lizard, snake " d) fish, frog, lizard, crow
The fibres consiBts of .v.vivveirerssserivnns s |
a) parench',jma - | . b) screlerenchyma
| ¢) collencliyma . d) none of above.
10, Smooth muscles OLBUP B 1 ovriariiisnsenssssiing o
) “"‘-"“s_j - b) artery _c) veln. " d) all the above
- II  Answer in one or two sentences, (An:/ seven). 7X2=14
. (Question No, 20 is compuisory) '
11, Define least count of any device,
: 12' I) speed Isa AL LA A R R A Y quantlty IWhere'asi'
ll? Veloclty 15 v.uvisininiinnnn quantity, '
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Dafine sudlimation.

Say e /Rl
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#) Canal system seen Is in colenterata. il
What is nematooyts? .

Draw nevron ool disgram-and mark any two parts,
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Expizin 2 method to find the thickness of a hallow tea cup. {?)
a}mmm&mﬂmawmwam wn‘te?seiecuanic
~mn®wahm (5)

e “‘*‘“ pudding model
2) ik~ -, - Ditavery ekl
3) RMﬁ A First atomic th’EOlY
4) 3. Thomson - Discovery of neutmng
write about phylum arthropoda,
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